Card #1






Name ___________________
	For the situations below, determine the Parameter of interest and check the Assumptions (the P and A parts of PANIC)
b) 240 potato plants in a field in Maine are randomly checked, and 12 show signs of blight.  How severe is the blight problem for the US Potato Industry?

            P:

           A:

c) What percent of college students have cell phones?  2883 students were asked as they entered a football stadium, and 243 said they had phones with them.

            P:

           A:
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Name ___________________

	For the given situation, assume the assumptions have been checked and met.  Calculate the interval and interpret it in context (I and C of PANIC)
a) In a suburban area, a random sample of 800 voters revealed that 560 are in support term limits for Congressmen and Senators.  Find the 90% confidence interval for the proportion of all voters in this suburb who do support term limits?

               I:

               C:
b) A union member reported that 80 out of 125 union workers interviewed supported some sort of work stoppage to further their demands for better safety conditions.  Find a 99% confidence interval estimate of the true proportion of workers who would support such action. 

               I:

               C:
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Name ___________________

	A pollster found that 38% of a random sample of 100 adults said they believe in ghosts.

a) Find the margin of error for a 90% confidence interval.  Show your work!

b) Assuming the 38% figure stays the same, find the margin of error if the sample size increases to 250.  Show your work!

c) How many people would you need to ask in order to get the margin of error to 0.03?  Show your work!
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Name ___________________

	(Based on your work from the previous card)

We are interested in what proportion of the employees of a very large corporation prefer to provide their own retirement benefits in lieu of a company sponsored plan.  How many of the employees should be randomly surveyed if we wish to be within 3% (that’s the MOE!) of the correct estimate with 95% confidence?  Since we don’t have a guess as to what p-hat is, use 0.50.
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Name ___________________

	A newspaper reports that the governor’s approval rating stands at 65%.  The article adds that the poll is based on a random sample of 972 adults and has a margin of error of 2.5%.  What level of confidence did the pollsters use?  Show any calculations.
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Name ___________________

	A Rutgers University study released in 2002 found that many high school students cheat on tests.  The researchers surveyed a random sample of 4500 high school students nationwide.  74% of them said they had cheated at least once.  Create a 90% confidence interval for the true level of cheating among high school students.  Show all steps of PANIC.
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